Proposal No: R/6/3378/2/25/181966 Proposal Date: 06/10/2015

Institute: Hindol Degree Collece Academic Year: 2015 - 16

Scheme: Post Matric Scholarship-ST Proposal Type: Renewal



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	Course: Plus 3/Arts/1Yr										
1	1062327	SIMANJALI DEHURY	Female	ST/Hindu	10	300	3000	350	4050	4400	7400
Course	Course: Plus 3/Arts/2Yr										
2	962522	ARCHANA BISWAL	Female	ST/Hindu	10	300	3000	350	4050	4400	7400
Course	Course: Plus 3/Arts/3Yr										
3	104325	NAMILI NAHAK	Female	ST/Hindu	10	300	3000	350	4050	4400	7400
				TOTALS:			9000		12150	13200	22200

Declaration:

has	Student is a bonafide student of this Institution and the academic details	provided b	y the applicant in the a	polication form is correct as	per the records of the Institution.
	Stadent is a bonding stadent of this institution and the academic actuits	provided b	y the applicant in the ap	ppiication form is correct as	per the records of the mistitution.

- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

Certified that this institution is affiliated to	University/Board and is recognized by the Government of India/State
Government of Above applicants are studying in this institution.	The information furnished by the students in their applications are verified & found correct.
In case the applicant leaves institution or otherwise discontinues the studies or	accepts any other regular scholarship/stipend the fact will be immediately reported to the
authority for eventual discontinuance of scholarship/stipend from the period it	is detected.



Proposal No: R/6/3378/1/24/181967

Proposal Date : 06/10/2015

Institute: Hindol Degree Collece

Academic Year: 2015 - 16

Scheme: Post Matric Scholarship- SC

Proposal Type : Renewal



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	ourse: Plus 3/Arts/1Yr										
1	229007	DEEPAK BEHERA	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
Course	: Plus 3/Arts/2\	/r									
2	966962	RANJAN NAIK	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
3	819287	KALPANA MAHALIK	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
4	852035	NAGEN NAIK	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
5	827320	ANANTA KUMAR BEHERA	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
6	783971	JITENDRA PADHAN	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
7	865147	PRIYANKA BEHERA	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
8	468104	SUBASH PADHAN	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
9	880589	SUBHASMITA NAIK	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
10	884148	RANUBALA BEHERA	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
11	943688	SUNIL MAHALIK	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
12	882896	SUSHREE B ARPITA PRIYADARSINI	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
13	883268	TADASA BEHERA	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
14	436300	RAHUL BEHERA	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
15	905747	PRAVAT BEHERA	Male	SC/Hindu	10	300	3000	350	4050	4400	7400

Proposal No: R/6/3378/1/24/181967 Proposal Date: 06/10/2015

Institute: Hindol Degree Collece Academic Year: 2015 - 16

Scheme : Post Matric Scholarship- SC Proposal Type : Renewal



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Arts/3\	/r									
16	578841	TIKAN BEHERA	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
17	517626	MUNA NAIK	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
18	162281	PRIYADARSANI NAYAK	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
19	552239	LITU BEHERA	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
20	849304	BIKASH NAIK	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
21	659694	KADAMBINI BEHERA	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
22	751869	JHARANA NAIK	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
23	665851	MADHUSMITA BEHERA	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
24	938083	PARADESI PATRA	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
25	971225	SIPI SAHU	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
26	543882	SHUBHASHREE BEHERA	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
27	557041	SALU BEHERA	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
28	752523	SATYARANJAN BEHERA	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
29	714974	LIJU BEHERA	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
30	962947	MAMALI NAIK	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
31	679044	AJIT BEHERA	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
32	678932	MANASI BEHERA	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
Course	: Plus 3/Science	- ⊵/2Yr									
33	810849	RAJU SETHI	Male	SC/Hindu	10	300	3000	350	4250	4600	7600
34	1014931	SIPRA SAHOO	Female	SC/Hindu	10	300	3000	350	4250	4600	7600
35	1170299	.ANIL KUMAR SETHI	Male	SC/Hindu	10	300	3000	350	4250	4600	7600
36	879029	DIPENDRA NAIK	Male	SC/Hindu	10	300	3000	350	4250	4600	7600
37	950916	DINESH BEHERA	Male	SC/Hindu	10	300	3000	350	4250	4600	7600
Course: Plus 3/Science/3Yr											
38	525515	BAPI BEHERA	Male	SC/Hindu	10	300	3000	350	4250	4600	7600
39	523859	MUNA NAIK	Male	SC/Hindu	10	300	3000	350	4250	4600	7600
				TOTALS:			117000		159350	173000	290000

Declaration:



Government	· ot Odicha
GOVELLILLELL	. VI VUISIIA

Proposal No :	R/6/3378/1/24/181967	Proposal Date :	06/10/2015								
Institute:	Hindol Degree Collece	Academic Year :	2015 - 16								
Scheme :	Post Matric Scholarship- SC	Proposal Type :	Renewal								
Student is a bona	fide student of this Institution and the academic details provided by the applica	ant in the application form is corre	ect as per the re	cords of the Institution.							
The course fees c	harged/claimed by the institution are actually being charged from all students o	of the concerned course.									
All the eligibility of	documents submitted by the applicant have been properly verified by me and fo	ound to be in order as per the elig	gibility condition	s of the scheme.							
The information i	The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.										
🚆 A bank-account d	etail provided by the applicant has been properly verified.										
I am aware that f	or any wrong entry or mis-match of the Bank-account details provided by the a	oplicant, the State Government w	vill not be respor	sible for mis-credit.							
Student is not ad	mitted against management quota seats.										
Student is of good	conduct and has attendance of minimum 75%.										
Government of In case the applican	Univ	rnished by the students in their a	pplications are v	erified & found correct.							
Place :		(Signate	ure & Seal of He	ad of the Institution)							



Date:

Name (Capital Leters):

Proposal No: R/6/3378/6/26/181969

Proposal Date : 06/10/2015

Institute: Hindol Degree Collece

Academic Year: 2015 - 16

Scheme: Post Matric Scholarship-OBC/SEBC

Proposal Type: Renewal





Proposal No: R/6/3378/6/26/181969 Proposal Date: 06/10/2015

Institute: Hindol Degree Collece Academic Year: 2015 - 16

Scheme: Post Matric Scholarship-OBC/SEBC Proposal Type: Renewal



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Science	e/2Yr									
27	703443	MANORANJAN SINGH	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
28	865335	PADMABATI NAYAK	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
29	1006482	JASMIN SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
30	904893	LEEPARANI SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
31	929289	TAPASWINI DEHURY	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
32	988278	ARCHANA BISWAL	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
33	1039960	RITUPARNA SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
34	922792	DEBABRAT DEHURY	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
35	956648	ITISHREE BISWAL	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
36	1013037	PADMINI SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
37	981704	ALESMINII BHARGABI	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
38	982093	SUPRIYA SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
39	1047844	MAMALI SAHOO	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
40	397904	SAUMYARANJAN BEHERA	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
41	998831	ANSUMAN BEHERA	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
Course	: Plus 3/Science	e/3Yr									
42	702707	PRAVAT KUMAR SAHOO	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
43	705628	PRITIPRAJNYA PRIYADARSHINI	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
44	972342	LIPSHARANI BISWAL	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
45	832397	KISAN KUMAR BEJ	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
46	882613	ITISHREE JENA	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
47	1012838	ROJALIN SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
48	588382	SWAGATIKA JENA	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
	TOTALS: 144000 198800 215600										

Declaration:

Student is a bonafide student of this Institution and the academic details provided by the applicant in the application form is correct as per the records of the Institution.

The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.



	rnmen	t ot ()	die	ha
GUVE		LUIU	Juis	

Proposal No: R/6/3378/6/26/181969 Proposal Date: 06/10/2015 Academic Year: 2015 - 16 Institute: Hindol Degree Collece Proposal Type: Scheme: Post Matric Scholarship-OBC/SEBC Renewal All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme. The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct. A bank-account detail provided by the applicant has been properly verified. I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit. Student is not admitted against management quota seats. Student is of good conduct and has attendance of minimum 75%. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.



Place:

Date:

(Signature & Seal of Head of the Institution)

Name (Capital Leters):

Proposal No: R/6/3378/2/25/185786 Proposal Date: 27/10/2015

Academic Year: 2015 - 16 Institute: Hindol Degree Collece

Proposal Type: Scheme: Post Matric Scholarship-ST Renewal



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance		Other Fee	Total Fee	Total Scholarship
Course	Course: Plus 3/Science/1Yr										
1	524868	SANGRAM BHOI	Male	ST/Hindu	10	350	3500	300	4250	4550	8050
Course	Course : Plus 3/Science/3Yr										
2	223895	MADHAB CHANDRA PRADHAN	Male	ST/Hindu	10	300	3000	350	4250	4600	7600
				TOTALS:			6500		8500	9150	15650

Declaration:

haz	Student is a bonafide student	t of this Institution and th	e academic details provi	ded by the applicant	in the application form	is correct as per the records of the	e Institution.

- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

Certified that this institution i	s affiliated to	University/Board and is recognized by the Government of India/State
Government of	. Above applicants are studying in this institution. The inforr	nation furnished by the students in their applications are verified & found correct.
In case the applicant leaves in	stitution or otherwise discontinues the studies or accepts a	ny other regular scholarship/stipend the fact will be immediately reported to the
authority for eventual discont	inuance of scholarship/stipend from the period it is detecte	d.

Place: Date:

(Signature & Seal of Head of the Institution) Name (Capital Leters):



Proposal No: N/6/3378/2/25/185793 Proposal Date: 27/10/2015

Institute: Hindol Degree Collece Academic Year: 2015 - 16

Scheme: Post Matric Scholarship-ST Proposal Type: Fresh



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance		Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Arts/1	Yr									
1	1304789	SUNITA SETHI	Female	ST/Hindu	10	300	3000	350	4050	4400	7400
2	688589	DOLY PADHAN	Female	ST/Hindu	10	300	3000	350	4050	4400	7400
Course	: Plus 3/Science	e/1Yr									
3	1217754	Jyoti Sankar Bhoi	Male	ST/Hindu	10	300	3000	350	4250	4600	7600
				TOTALS:			9000		12350	13400	22400

Declaration:

700	C . I						1 . 1												C . I	Institution.
	L Ctudoi	\+ ic a	hanatid	a ctudan	t at thic	Inctitution	and tha	acadomic	dotaile	nravidad	hv, th/	a annlica	nt in tha	annlica	tion torm	IC CORPOCT ?	ic nort	ha racardo	· ot tho	Inctitution
	. aruuei	เบเราส	DOMATIC	e siluden	I OI HIIS	HISHIUHOL	and the	academic	uerans	DIOVIDED	LJV	- auunica	III III III C	annica		115 COLLECT 6	ו ואו נו	110 1000101	, OI THE	misululuni.

- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

Certified that this institution i	s affiliated to	University/Board and is recognized by the Government of India/State
Government of	.Above applicants are studying in this institution. T	he information furnished by the students in their applications are verified & found correct
In case the applicant leaves in	stitution or otherwise discontinues the studies or a	ccepts any other regular scholarship/stipend the fact will be immediately reported to the
authority for eventual discont	inuance of scholarship/stipend from the period it i	s detected.



Proposal No: R/6/3378/1/24/185797

Proposal Date : 27/10/2015

Institute: Hindol Degree Collece

Academic Year: 2015 - 16

Scheme: Post Matric Scholarship- SC

Proposal Type: Renewal

S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Arts/1	'r									
1	546034	SHAKTI PRASAD BEHERA	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
2	313304	ANIL NAIK	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
3	616118	MANINI NAIK	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
4	644442	MANDODARI NAIK	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
Course	: Plus 3/Arts/2\	r									
5	946059	ISWARA NAIK	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
6	859788	BIKASH NAIK	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
7	340976	SUBHASHREE BEHERA	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
8	888049	BIJAYA KUMAR BEHERA	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
9	989423	SOBHAGINI SETHI	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
10	984019	SHANTILATA NAIK	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
11	337149	SIDHANT SANKAR NAIK	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
Course	: Plus 3/Arts/3\	'r									
12	252726	Kuna Dalei	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
13	939026	NIRUPAMA DEHURY	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
14	583984	JADU NAIK	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
15	651974	JAGANNATH NAIK	Male	SC/Hindu	10	300	3000	350	4050	4400	7400
16	568116	LINA SETHI	Female	SC/Hindu	10	300	3000	350	4050	4400	7400
Course	: Plus 3/Science	/1Yr									
17	709293	SUBHASHREE SETHY	Female	SC/Hindu	10	300	3000	350	4250	4600	7600
18	593469	BALARAM BEHERA	Male	SC/Hindu	10	300	3000	350	4250	4600	7600
Course	: Plus 3/Science	/2Yr									
19	840919	SURENDRANATH SAHOO	Male	SC/Hindu	10	300	3000	350	4250	4600	7600
20	839794	UPENDRANATH SAHOO	Male	SC/Hindu	10	300	3000	350	4250	4600	7600
21	838436	ashirbad malik	Male	SC/Hindu	10	300	3000	350	4250	4600	7600



Proposal No: R/6/3378/1/24/185797 Proposal Date: 27/10/2015

Institute: Hindol Degree Collece Academic Year: 2015 - 16

Scheme: Post Matric Scholarship- SC Proposal Type: Renewal



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance		Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Science	e/3Yr									
22	850615	SUBHAKANTA BEHERA	Male	SC/Hindu	10	300	3000	350	4250	4600	7600
23	953279	RATIKANTA NAYAK	Male	SC/Hindu	10	300	3000	350	4250	4600	7600
24	621300	MANASMITA NAIK	Female	SC/Hindu	10	300	3000	350	4250	4600	7600
				TOTALS:			72000		98800	107200	179200

Declaration:

Student is a bonafide student of this Institution and the academic det	ails provided	by the applicant in the application	ation form is correct as per the reco	rds of the Institution
--	---------------	-------------------------------------	---------------------------------------	------------------------

- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

Certified that this institution is	s affiliated to	University/Board and is recognized by the Government of India/State
Government of	. Above applicants are studying in this institution. The inform	nation furnished by the students in their applications are verified & found correct.
In case the applicant leaves in	stitution or otherwise discontinues the studies or accepts ar	ny other regular scholarship/stipend the fact will be immediately reported to the
authority for eventual discont	inuance of scholarship/stipend from the period it is detected	d.

Place : Date :



Proposal No: N/6/3378/1/24/185799 Proposal Date: 27/10/2015

Institute: Hindol Degree Collece Academic Year: 2015 - 16

Scheme: Post Matric Scholarship- SC Proposal Type: Fresh



											E1501.5900.64010531	
S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship	
Course	: Plus 3/Arts/1	′r										
1	436933	Likun Naik	Male	SC/Hindu	10	300	3000	350	4050	4400	7400	
2	646892	ANJALI NAIK	Female	SC/Hindu	10	300	3000	350	4050	4400	7400	
3	745689	NIRMALA NAIK	Male	SC/Hindu	10	300	3000	350	4050	4400	7400	
4	1151315	SMITA SAHU	Female	SC/Hindu	10	300	3000	350	4050	4400	7400	
5	668856	KALIA DEHURY	Male	SC/Hindu	10	300	3000	350	4050	4400	7400	
6	1288776	SOUMYARANJAN SETHY	Male	SC/Hindu	10	300	3000	350	4050	4400	7400	
7	1377010	RITANJAL BEHERA	Female	SC/Hindu	10	300	3000	350	4050	4400	7400	
8	1383919	GANESWAR BEHERA	Male	SC/Hindu	10	300	3000	350	4050	4400	7400	
9	544716	ANITA BEHERA	Female	SC/Hindu	10	300	3000	350	4050	4400	7400	
10	1289103	DEEPAK NAIK	Male	SC/Hindu	10	300	3000	350	4050	4400	7400	
11	1296007	KISAN BEHERA	Male	SC/Hindu	10	300	3000	350	4050	4400	7400	
12	223044	Subrata Behera	Male	SC/Hindu	10	300	3000	350	4050	4400	7400	
13	1221983	PRASANTA BEHERA	Male	SC/Hindu	10	300	3000	350	4050	4400	7400	
14	1328784	RAJKISHORE PADHAN	Male	SC/Hindu	10	300	3000	350	4050	4400	7400	
15	1329300	BULU PADHAN	Male	SC/Hindu	10	300	3000	350	4050	4400	7400	
16	1229387	ITISHREE NAIK	Female	SC/Hindu	10	300	3000	350	4050	4400	7400	
17	1232275	KALPANA NAIK	Female	SC/Hindu	10	300	3000	350	4050	4400	7400	
18	1265055	SUMITRA BEHERA	Female	SC/Hindu	10	300	3000	350	4050	4400	7400	
19	1140108	SURATI NAIK	Female	SC/Hindu	10	300	3000	350	4050	4400	7400	
20	1357724	SONALI NAIK	Female	SC/Hindu	10	300	3000	350	4050	4400	7400	
21	1343235	PRAFULA KUMAR NAIK	Male	SC/Hindu	10	300	3000	350	4050	4400	7400	
Course	: Plus 3/Arts/2\	′r										
22	1318083	LIPILATA BEHERA	Female	SC/Hindu	10	300	3000	350	4050	4400	7400	
Course	: Plus 3/Arts/3\	′r										
23	1257984	BISWARANJAN BEHERA	Male	SC/Hindu	10	300	3000	350	4050	4400	7400	

Proposal No: N/6/3378/1/24/185799 Proposal Date: 27/10/2015

Institute: Hindol Degree Collece Academic Year: 2015 - 16

Scheme: Post Matric Scholarship- SC Proposal Type: Fresh



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Science	e/1Yr									
24	705490	SUBHADRA SAHU	Female	SC/Hindu	10	300	3000	350	4250	4600	7600
25	709261	RAJASHREE BEHERA	Female	SC/Hindu	10	300	3000	350	4250	4600	7600
26	642657	MAMULI NAIK	Male	SC/Hindu	10	300	3000	350	4250	4600	7600
27	1337934	DEEPAL BEHERA	Male	SC/Hindu	10	300	3000	350	4250	4600	7600
28	1264157	SRIKANTAA BEHERA	Male	SC/Hindu	10	300	3000	120	0	120	3120
29	1131430	KALPANA NAIK	Female	SC/Hindu	10	300	3000	350	4250	4600	7600
30	1164609	SOBHAGIN I BEHERA	Female	SC/Hindu	10	300	3000	350	4250	4600	7600
				TOTALS:			90000		118650	128920	218920

Declaration:

haz	Student is a bonafide student of	f this Institution and the acade	mic details provided b	y the applicant in the ap	oplication form is correct as per	the records of the Institution.
				,		

- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

Certified that this institution i	s affiliated to	University/Board and is recognized by the Government of India/State
Government of	.Above applicants are studying in this institution. The inf	formation furnished by the students in their applications are verified & found correct.
In case the applicant leaves in	stitution or otherwise discontinues the studies or accept	s any other regular scholarship/stipend the fact will be immediately reported to the
authority for eventual discont	inuance of scholarship/stipend from the period it is dete	cted.

Place :
Date :

(Signature & Seal of Head of the Institution)
Name (Capital Leters):



Proposal No: R/6/3378/6/26/186143 Proposal Date: 27/10/2015

Institute: Hindol Degree Collece Academic Year: 2015 - 16

Scheme : Post Matric Scholarship-OBC/SEBC Proposal Type : Renewal



		(型の数字が)					ALCONOLOGICA.				
S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Arts/1	/r									
1	904849	JYOTIRMAYEE BISWAL	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
2	346863	SIMARANI PRUSTY	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
Course	: Plus 3/Arts/2	/r									
3	961776	BIMAL SAHU	Male	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
4	300810	ROJALIN SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
5	305382	ITISHREE BARIK	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
6	988936	SUNIL BISWAL	Male	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
7	839966	Biren Kumar Sahu	Male	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
8	1046376	PUNYAPRABHA PRADHAN	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
Course	: Plus 3/Arts/3	ſr									
9	669921	DILIP SAHU	Male	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
10	738992	ANITA SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
11	1008799	HARAPRIYA SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
12	930942	GITANJALI MOHARANA	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
13	988188	HINATI SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
14	1268546	SUMITRA SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
15	1319332	NAMITA SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
16	1354212	SUPRAVITA SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
Course	: Plus 3/Science	e/1Yr									
17	731334	GANESWAR BEHERA	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
18	717510	NIRANJAN SAHU	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
19	668237	ALOK RANJAN KANJIA	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
20	685160	RADHAKRUSHNA BARIK	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600

Proposal No: R/6/3378/6/26/186143 Proposal Date: 27/10/2015

Institute: Hindol Degree Collece Academic Year: 2015 - 16

Scheme: Post Matric Scholarship-OBC/SEBC Proposal Type: Renewal



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Science	e/2Yr									
21	909469	SASANKA KUMAR SAHOO	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
22	315937	PRADYUMNA SAHOO	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
23	556593	IPSITA SAHOO	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
24	827738	JAGADISH CHANDRA DEHURY	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
25	1167879	BALARAM PRADHAN	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
26	1363248	ADITYA KUMAR SAHU	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
Course	: Plus 3/Science	e/3Yr									
27	710310	HARIHAR PRASAD MOHARANA	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
28	837389	SUBHRARANJAN BEHERA	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
29	719773	SMRUTIRANJAN DEHURY	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
30	1000354	SHUBHAM PRASAD SAHU	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
31	736064	SWATI PRIYADARSANI	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
32	854281	BAPU SAHOO	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
33	905243	CHINMAYA SAHU	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
34	596433	Sonali Sahoo	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
35	628057	BABITA NAYAK	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
36	703329	ANIL NAYAK	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
37	387391	JANMEJAYA MOHARANA	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
38	714613	MADHUSMITA SAHOO	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
39	700502	SUCHITRA BEHERA	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
40	1354581	KAJAL KRISHNA BEHERA	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
				TOTALS:			120000		166800	180800	300800

Declaration:

- Student is a bonafide student of this Institution and the academic details provided by the applicant in the application form is correct as per the records of the Institution.
- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.



O			- 6	O -1! -	
	/ern	ment	OT	פותו	na

Proposal Date:

Academic Year:

27/10/2015

2015 - 16

Proposal Type: Scheme: Post Matric Scholarship-OBC/SEBC Renewal A bank-account detail provided by the applicant has been properly verified. I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit. Student is not admitted against management quota seats. Student is of good conduct and has attendance of minimum 75%. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Place: (Signature & Seal of Head of the Institution) Date: Name (Capital Leters):



Proposal No:

Institute:

R/6/3378/6/26/186143

Hindol Degree Collece

Proposal No: N/6/3378/6/26/186144

Proposal Date : 27/10/2015

Institute: Hindol Degree Collece

Academic Year: 2015 - 16

Scheme: Post Matric Scholarship-OBC/SEBC

Proposal Type : Fresh



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Arts/1	/r									
1	739466	MINATI BEHERA	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
2	982085	RAJENDRA SAHOO	Male	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
3	709599	LIMARANI BISWAL	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
4	1277573	PAPUNA SAHU	Male	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
5	1201621	RASMITA BARIK	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
6	1314880	JAYANTI BISWAL	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
7	1262325	PRASANTA BEHERA	Male	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
8	671287	SIPINA SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
9	1341084	MINI SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
10	1201956	DINOJANI SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
11	1280851	SUBHALAXMI BISWAL	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
12	1332365	SUNYAMAYEE BARIK	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
13	1257608	SUBHASMITA BISWAL	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
14	1341395	PUNAM BEHERA	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
15	1140169	NINAYA KUMAR SAHU	Male	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
Course	: Plus 3/Arts/2\	/r									
16	1374547	ANANYA PRIYADARSHINI	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
17	736182	JITENDRA KUMAR SAHU	Male	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
18	1279966	SRITAM SAHU	Male	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
Course	: Plus 3/Arts/3\	/r									
19	1201548	SEBATI SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
20	1182957	SUMANT SAHU	Male	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
21	1288170	BISWANATH MAHARANA	Male	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400
22	1329971	NIRUPAMA BISWAL	Female	OBC/SEBC/Hindu	10	300	3000	350	4050	4400	7400

Proposal No: N/6/3378/6/26/186144 Proposal Date:

Institute: Hindol Degree Collece Academic Year: 2015 - 16

Scheme: Post Matric Scholarship-OBC/SEBC Proposal Type: Fresh



27/10/2015

										Elianos transcor	
S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Science	e/1Yr									
23	694806	SUSHREE MADHUSMITA BEHERA	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
24	576177	.Gayatri Behera	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
25	274974	MANI SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
26	542436	JYOTIRMAYEE SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
27	1372549	SUBHRASMIT BEHERA	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
28	1371488	ASHUTOSH PARIDA	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
29	718618	SUNIL KUMAR SAHU	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
30	1269011	SNIGDHAMAYEE JENA	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
31	1213604	HEMANT KUMAR SAHU	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
32	1245690	NIBEDITA SAHU	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
33	555851	DIBYASAMBIDHAN SAHOO	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
34	1205878	SAUMYA PRIYADARSHINI NAYAK	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
35	1328725	SIMARANI SAHOO	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
36	1327390	SANGHAMITRA SAHOO	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
37	1318533	PRIYANKA PRIYADARSINI BARIK	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
38	1250543	MAMALI BEHERA	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
39	1288807	JITEN DAS	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
40	1200022	BHABANISANKAR SAHOO	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
41	1284177	RABINARAYAN DAS	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
Course	: Plus 3/Science	e/2Yr							,		
42	1268888	SURYAKANTA JENA	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
43	1275483	PRAMODINI SAHOO	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
44	1202555	SWATI BISWAL	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
45	1255094	BISWAJITA SAHOO	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
46	1257683	ADITYA BEHERA	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
47	1222349	SANDIPTA SAHU	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
48	1180033	MANMATH BRAHMA	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
			<u>'</u>	TOTALS:			144000		199600	216400	360400

Proposal No: N/6/3378/6/26/186144 Proposal Date: 27/10/2015

Institute: Hindol Degree Collece Academic Year: 2015 - 16

Scheme: Post Matric Scholarship-OBC/SEBC Proposal Type: Fresh



Declaration:

Student is a bonafide student of this Institution and the academic details provided by the applicant in the application form is correct as per the records of the Institution									
a student is a bollande student of this institution and the academic details provided by the applicant in the application form is correct as per the records of the institution	FF7	Student ic	a honafida studant	of thic Inctitution and th	no acadomic dotaile provido	d by the applicant in th	ha annlication form is co	arract as nor tha records of th	an Inctitution
		Student is	a bollative studelit	of this mistitution and th	ie academic details provide	u by the applicant in th	ne application form is co	niect as per the records or ti	ie ilistitution.

- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

Certified that this institution is affiliated to	University/Board and is recognized by the Government of India/State
Government ofAbove applicants are studying in this institution. T	ne information furnished by the students in their applications are verified & found correct
In case the applicant leaves institution or otherwise discontinues the studies or a	ccepts any other regular scholarship/stipend the fact will be immediately reported to the
authority for eventual discontinuance of scholarship/stipend from the period it is	detected.



Proposal No: R/6/3378/2/25/193324 Proposal Date: 14/11/2015

Institute: Hindol Degree Collece Academic Year: 2015 - 16

Scheme: Post Matric Scholarship-ST Proposal Type: Renewal



S.No.	Application ID Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance		Other Fee	Total Fee	Total Scholarship
Course	: Plus 3/Arts/2Yr									
1	895379 BIKRAM BEHERA	Male	ST/Hindu	10	300	3000	350	4050	4400	7400
			TOTALS:			3000		4050	4400	7400

Declaration:

- Student is a bonafide student of this Institution and the academic details provided by the applicant in the application form is correct as per the records of the Institution.
- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

Certified that this institution i	s affiliated to	University/Board and is recognized by the Government of India/State
Government of	. Above applicants are studying in this institution. The inf	formation furnished by the students in their applications are verified & found correct.
In case the applicant leaves in	stitution or otherwise discontinues the studies or accept	s any other regular scholarship/stipend the fact will be immediately reported to the
authority for eventual discont	inuance of scholarship/stipend from the period it is dete	cted.



Proposal No: N/6/3378/1/24/193325 Proposal Date: 14/11/2015

Institute: Hindol Degree Collece Academic Year: 2015 - 16

Scheme: Post Matric Scholarship- SC Proposal Type: Fresh



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship		
Course	Course: Plus 3/Arts/1Yr												
1	1385299	SARASWATI NAIK	Female	SC/Hindu	10	300	3000	350	4050	4400	7400		
2	645138	TAPAS BEHERA	Male	SC/Hindu	10	300	3000	350	4050	4400	7400		
Course	Course: Plus 3/Science/1Yr												
3	597816	BIKRAM BEHERA	Male	SC/Hindu	10	300	3000	350	4250	4600	7600		
				TOTALS:			9000		12350	13400	22400		

Declaration:

MEG.			C . I				plication form is correct as		
(1)	idant ic s	a hanatida etiidant	At this Institution and	tha acadamic datail	c nrouidad hu	<i>i</i> the annlicant in the an	inlication torm is correct as	nor the records of the I	nctitution

- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

Certified that this institution is	affiliated to	University/Board and is recognized by the Government of India/State
Government of	. Above applicants are studying in this institution. The	information furnished by the students in their applications are verified & found correct.
In case the applicant leaves in	stitution or otherwise discontinues the studies or acc	epts any other regular scholarship/stipend the fact will be immediately reported to the
authority for eventual discont	inuance of scholarship/stipend from the period it is d	etected.

Place :
Date :

(Signature & Seal of Head of the Institution)
Name (Capital Leters):



Proposal No: N/6/3378/6/26/193327 Proposal Date: 14/11/2015

Institute: Hindol Degree Collece Academic Year: 2015 - 16

Scheme: Post Matric Scholarship-OBC/SEBC Proposal Type: Fresh



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship		
Course	Course: Plus 3/Science/1Yr												
1	718221	RAJESH KUMAR SAHOO	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600		
2	1410079	BISHNU PRASAD KHUNTIA	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600		
3	1128314	PRABHUDATTA PRADHAN	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600		
4	1366302	JAYASHRIYASMIN SAHOO	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600		
Course	: Plus 3/Science	e/2Yr											
5	399568	SUDIPTA SAMAL	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600		
6	1290154	MITALI MADHUSMITA DEHURY	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600		
					18000		25500	27600	45600				

Declaration:

har	Student is a bonafide student o	f this Institution and the aca	demic details provided	by the applicant in the a	onlication form is correct as	ner the records of the	Institution
	Student is a bonance student o	i tilis ilistitution and the act	ideffile details provided	by the applicant in the ap	spincation form is correct as	per the records of the	mstitution.

- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

Certified that this institution is	affiliated to	University/Board and is recognized by the Government of India/State					
Government of	. Above applicants are studying in this institution. The infor	mation furnished by the students in their applications are verified & found correct.					
In case the applicant leaves in	stitution or otherwise discontinues the studies or accepts a	ny other regular scholarship/stipend the fact will be immediately reported to the					
authority for eventual discontinuance of scholarship/stipend from the period it is detected.							



Proposal No: R/6/3378/6/26/193333 Proposal Date: 14/11/2015

Institute: Hindol Degree Collece Academic Year: 2015 - 16

Scheme: Post Matric Scholarship-OBC/SEBC Proposal Type: Renewal



S.No.	Application ID	Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance	Course Fee	Other Fee	Total Fee	Total Scholarship
Course	Course: Plus 3/Science/2Yr										
1	678691	BIBEKANANDA BEHERA	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
2	840308	SAMARENDRA SAHOO	Male	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
				TOTALS:			6000		8500	9200	15200

Declaration:

-					
1000	• Carral t	f this Institution and the academic deta			
-	Stildent is a nonatide stildent of	t this institution and the academic deta	is nrovided by the applicant in the	anniication torm is correct as	ner the records of the institution
	stadent is a bondifiae stadent o	i tilis ilistitution and the academic acta	is provided by the applicant in this	Lappineation form is correct as	per the records of the mistitution.

- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

Certified that this institution is affiliated to	University/Board and is recognized by the Government of India/State
Government ofAbove applicants are studying in this institution. The	information furnished by the students in their applications are verified & found correct.
In case the applicant leaves institution or otherwise discontinues the studies or acc	epts any other regular scholarship/stipend the fact will be immediately reported to the
authority for eventual discontinuance of scholarship/stipend from the period it is d	etected.



Proposal No: R/6/3378/6/26/196253 Proposal Date: 20/11/2015

Institute: Hindol Degree Collece Academic Year: 2015 - 16

Scheme: Post Matric Scholarship-OBC/SEBC Proposal Type: Renewal



S.No.	Application ID Student Name	Gender	Category/Religion	Month	Rate	Maintenence Allowance		Other Fee	Total Fee	Total Scholarship
Course	Course: Plus 3/Science/2Yr									
1	315886 PRAVATI SAHOO	Female	OBC/SEBC/Hindu	10	300	3000	350	4250	4600	7600
			TOTALS:			3000		4250	4600	7600

Declaration:

- Student is a bonafide student of this Institution and the academic details provided by the applicant in the application form is correct as per the records of the Institution.
- The course fees charged/claimed by the institution are actually being charged from all students of the concerned course.
- All the eligibility documents submitted by the applicant have been properly verified by me and found to be in order as per the eligibility conditions of the scheme.
- The information reflected by the student regarding Residential Status (Day-Scholar/Hosteller) is correct.
- A bank-account detail provided by the applicant has been properly verified.
- I am aware that for any wrong entry or mis-match of the Bank-account details provided by the applicant, the State Government will not be responsible for mis-credit.
- Student is not admitted against management quota seats.
- Student is of good conduct and has attendance of minimum 75%.

Certified that this institution i	s affiliated to	University/Board and is recognized by the Government of India/State
Government of	. Above applicants are studying in this institution. The	information furnished by the students in their applications are verified & found correct.
In case the applicant leaves in	stitution or otherwise discontinues the studies or acce	epts any other regular scholarship/stipend the fact will be immediately reported to the
authority for eventual discon-	inuance of scholarship/stipend from the period it is de	etected.

